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'j) d
'UeJ'VI 1.1 - 1.3 (10 f1~U'U'U)

1.1. 1l1fl:llhi'11l1'U'l1:lJ'U'l1:lJ'U)au,WI0 iu.h(Jfl11:lJ1~1Iii~:lJ:lJ 4 radls
'U "" q q

, ~ dl 2 i ..~ ~.1
IW:;fl11:lJIH!'li~1JlJ 2 ra s 'l(JlJ'I'lff'l'll~nl)'l11J'U'l~~u 1l~'l1l'U'Ul'l'Ua~

fl11lJli~~~'l B

1 2 .11 ~ ~ ~ ,~ .,; dI 2 ~
• • 1l1n~u Ul'l'l'Ua~l'l'lCllJ'I11J'U'l1Vfl11lJl)~I'li~1JlJfN'I'l 2 ra s 'I'lff

\llllJl~lJ'U1Wmti'1t~lJ~'U lu~'l'l1~'l~~ 1l~'l1l'U'Ul'l'U1Nfl11lJd ~'Ua~~'l P
U'U1U~'llrlaI1Cllfh'Uiu 2 l'lJlVi

1.3. ~11l'U'UAB 'I11J'U.1'1(Jfl11:lJl~119f~1JlJ30 radls i1ff.r~~U 1l~'l1l

'U'lJl'lllCl:;i1ff'l'lH'Ua~fl11lJl~1\!f1t!U D
nl'l1'U'llH ):;v:; r = 20 em, CD = CB = 1 m



~'El-'M~ d',x'i'l 'Ell9ld'tJCJ'i'l'El'W,--------------- --------- ~ -------
1.4. i:l'ilffl'1J 10 19l''ll~IIJ\l1)fli~l\l1l'1'hi'ltHl 1\l1l'1l~mi''lliifl111J1~')l'li~1J1Jll'ilT1U3 rad/s 'I'lu':h Irlill')m~l'llhl 1 1'll11l fl,)llJlh~~IJIJ'l.i'

l1J~l'I'llhh1'l'll 4 rad/s {/ G\'\) f\;f;1~ ~ '7 V 6\7') '~~hi) t1'J~r ) •

\l~11l'\J'lll\l1'lJil~fl111J11~~~\l1A lll:l~ B lrlill')m~1'llhI2 1'll11l (1 0 fl~lt'W'W)



;1l-~f)~ 'j"\X~ 1l1"llJU~~1l'W _

<treJ~2. U'j-:lP 20 N n'j~ViwieJ~eJ~nlt1-:1!fl~eJ'U~{l-:litJ~1:U~'U!B(J-:ll~l(Jijfl')1:U!~1'UeJ-:lil~ 0 ~-:I!il'Uil~. .
f1'U6nm-:l:U1mvhihJ 0.3 m/s il-:l'l11'U'Ul~U{l~1lf1'Vll-:l'UeJ-:lfl11:U!~1'UeJ-:lil~a !rleJUH P n'j~Vil~h'UitJ
OJ •. "
51'Ulll nl'l1'U~'~ ~eJ:U1{l 2 kg ijff1ijiil!'ji'U 60 mm 'jeJ1J~~ 0 U{l~~'U!B(J-:I!il'UN1'U~'U'j~ l~(Jij

1.1 s = 0.25, 1.1 k = 0.1 (20 fl~U'U'U)

't)~



5/0,



..s OJ iI

'IH) ':i11 ff f;!fftJ'W .
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4 Q,I"

'1ft!..... 0. 0 0 0.000.00.000 •••• 0. 0 0.0.00 ••• 0 •• 0 0.00.0000. 0 •• 0.00. 0 •• 0 0 •••• 0.0.00.000.0 •• 0 0 •• 000. 0 0 0 l'Hn'o. 0 0 0.0.0.0 •• 00 •• O. 0 0.0 •• 0 0.0.00.0 •• 0.00.0.00.00 ••• f:ln't!'IJ 0.0.000.0. 0.0.000000000.0. 0 0

"Jl£) 5 (10 fl::LL'U.'U.) n1'U. ( L= 3 m, m = 20 kg, I = J.-mL2) 1'U.~tl iihmJ'U.~ 80 Nom m:: Yi11'U.;;~~1lJLoj'jlJ'U.1~m
G 12 'II

n1'U.n1 ~'I'VIlJ'U.£)t.i1'U.~::'U.11J~'I 'VI1n,yj lIi1LL'VI'\.i'l~'I1 'U.~tlLL'lJ'U.iim1lJ L11L:n'llJlJ 5 rad/s ,;)'I'VI1m1lJ L7'1L:n'llJlJ'lJ £)'1LL'lJ'U.d
It \I 'lI It It

LLa::'VI1LL~'I m::Yi1,yj';) lil'VIlJ'U.• •

I

_._(~)._.



••• ••• 'JJ

'Il'~ ':i'Hff f:lff~'U .

,ra 6 (10 fl::LL'l.4'l.4)niilLnl'l.4~th_h::na1J~·nm'lJ'l.4 AB (m = 10 kg, 1=1 m) LL'lJ'l.4BC (m = 20 kg, I = 2 m) LLiiI::1Jaan C (m
'II

= 4 kg) ~"~1'I·Hr"'I1'l.4~iiI~'lJa"~::1J1J LdaniilLn3jlii1LLw",,~,,1'l.4~tl ~"1Jaann1a"Lflia'l.4iiLtl'Y11"'lJ11ija~1E.Jm13JL~1 1

m/s n1~'l.4~1~ LL'lJ'l.43jI = ...!..-m/2

G 12



.4 Q.I 91
'If~ ~'l1ff r:!ff~'U .

,rEI 7 ( 10 f1::LL'I-l.'\.l,)LL"lJ'\.l.'1J1-:J(J = J.-.mI2, m = 10 kg) 11-:Jii-:JEI£i1'\.l,LL'\.l,11::~1Jihn.fi-:J~ET-:JlllEi~~1~~EI£i~1JGl1£J B ,;)-:J
G 12 ~ ~

~1'\.l,1m ~1m13J LLiJ-:J(stiffness) "lJEI-:Ja'tfi-:J~-:Jn~11 t11LL"lJ'\.l,Cln1J~EImf1~ EI'\.l,~ Gl-:J3J1~£J~ii-:Ji1"lJm:: L~EI~3J'\.l,Gl-:JLiJ'\.l,3J3J90°
'\I 'iii 'iii II


